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[TJComplete the text about going to University. Definitions are given in brackets to

help you.

At high school you might take an 1'apt e test( test of your ability) and have
a chance to go to university. How do you choose the university? Perhaps by the
quality and reputation of the 2f ___ty (all the teachers); perhaps because you -
were persuaded by one of the 3al i (previous students); or perhaps by the
_sports and social 4 ies (rooms, equipment and services). Then, having
chosen, you will be just one of many thousands of >a nts (people who have

formally asked for a place). Hopefully, you will be successful and you will

Ssh u ( phrasal verb: arrive in a place where people are expecting you)

with everyone else on the first day.

[Z]Complete the sentences with the words below.

assighment chair dismissed drawup exceed laidoff implement

meet present recruit sabbatical train

1. After you new sales reps you have to __them.

2. It’s good if you can your sale objectives, but it’s even better if you
can them.

3. It’s not enough just to a few proposals on paper, you’ve actually
got to plans.

4. When you become more experienced you might have to working
parties and even new programmes to the Board.

5. If you lost your job because of the company’s problems, you were
but if you did something wrong then you were

6. If you are working in another geographical place, you are on ;if

you are not working because you want to study or write then you are on

[3] Complete the text with the phrases in the box.

coherency convenience cycle environment marketing

mix place price product promotion

The marketing mix is often defined as being ‘the four Ps’. But seen from the
customer’s point of view, these should perhaps be the ‘four Cs’. So(1)

become customer solution, (2) becomes cost, (3) becomes

communication and (4) (distribution ) becomes(5) . This

(6) can be expanded to include submixes. For example, the promotion






